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Chapter 3 Test Review
       Advanced Algebra


1.  Without graphing, classify the system 
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2x + y = 7
y = −2x − 9
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1.  _____________________
      as dependent, independent, or inconsistent.

For Question 2 – 6, solve each system using substitution or elimination.  SHOW WORK FOR CREDIT.  Give your answer as a coordinate.





2.  
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3x + 6y =14
x + 2y = 3
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2.  _____________________

3.  
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y = x
x − 4y = 0
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3.  _____________________

4.  
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7x + 2y = −8
8y = 4x
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4.  _____________________

5.  
[image: image5.emf]


5x + y = 0
−5x + 2y = 30
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5.  _____________________
6.  
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1.2x +1.4y = 2.7
0.4x − 0.3y = 0.9
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6.  _____________________

For Questions 7 – 8, graph each system to solve.


7.  
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y ≥1
y < x +1
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8.  
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y ≤ −x −1
y ≤ − x −3 −1
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For Questions 9 – 10, given each system of constraints,

a. Find all vertices.

b. Evaluate the objective function at each vertex to find the maximum or minimum value, and state the value.
9.  
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x + y ≤ 5
4x + y ≤ 8
x ≥ 0, y ≥ 0
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10.  
[image: image10.emf]


x + y ≤ 6
2x + y ≤10
x ≥ 0, y ≥ 0
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      Minimum for C = x +3y



Maximum for C = 4x + y







9a.  __________ = __________


10a.  __________ = __________

       __________ = __________


         __________ = __________

       __________ = __________


         __________ = __________

       __________ = __________


         __________ = __________

9b.  Minimum = ____________


10b.  Maximum = ____________

11.  Pump Up Gym has an initial joining fee of $205 and monthly membership dues of $15.  Universe   

       Gym has an initial joining fee of $125 and monthly membership dues of $19.
       a.  When will the costs to join and maintain memberships at the
11a.  ___________________ 
            gyms be equal?

       b.  If you planned on continuing your gym membership for only
11b.  ___________________

            2 years, which gym would you join?  Show work to explain.

12.  John has a total of nine stamps, which consists of 25-cents and 
12.  ____________________

       2-cent stamps.  His stamps have a value of $1.10.  How many
       of each stamp does he have?
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